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Happy Thursday, February 2nd!
Do Now: Did Phil see his shadow?

1) Grab belongings Since 1887:
and find a seat in the

113 Shadow sitings
16 no shadow

room next door.

(Unless you have

questions)
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Happy Thursday, February 2nd!

Do Now: Did Phil see his shadow?
1) Get notes out from Since 1887:
yesterday.

113 Shadow sitings
2) Take worksheet from
back table.

16 no shadow
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Group 1 Group 2 Group 3
y=37t y=-ly p=3-S

Group 6 Group 7 Group 8
y=log,(x-4)  y=-log,x y=log,(x)+1

Feb 2-11:00 AM

Today:

On your paper, there are 8 graphs. You will work
with the people sitting at your table on all 8 graphs.

Fach Group will be presenting (today or tomorrow)
on one graph. I will tell you which once your group
1s finished with all 8 graphs.
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y=3%
Asymptote: y-intercept:
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¥ = 3x+4
Asymptote: y-intercept:
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y= -1 - 3.?('
Asymptote: y-intercept:
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p=3"—5
Asymptote: y-intercept:
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v=log,x
Asymptote: w-intercept:
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¥ = logy(x — 4)
Asymptote: x-intercept:
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v=—log.x
Asyrmptote: ¥-intercept:
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y=logx+1
Asymptote: ¥-intercept:
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